A1) O
= O (LA T4 ] AT
SIS (V—F—&%8 - b Lb LI (BLbEH)
IIFA7a)Fiiva vLUF Y~
W 40 B fuH 1L(305m)
H A | ABREL, ARES LORBWEFEILASMEROH 2 EFEZBED 5,
k| B | HUE 1/25,000 | fiRAE G | A1
A () | 2025 4F 10 H 11 B (1) R | WRFEA L|&T
£ & | BEBETRGLN T2 | BRE | HIRY LETE | B
£ T-BR(7:35)= H 2 FL(8:05/8:11)=1 4% (8:25/8:35)=AK AE (9:24/32)=
1 BEBR (9:40/10:00) ~ (20) ~ i BEASABAE 5~ (50) ~ H Fin (L~ (30) ~
H GBS HE~ (10)~ B REAIRE 5~ (10)~ = B8 AR EHIE ~(20) ~ 158
ARG 5 ~(20) ~ = BEER = fE=H04%= H B =T FR 1-BR
a—2 5% 1
& BE (14:51)= f) fiE (14:58/15:05)= /v T 5 (15:23/15:24)= #f /&
(15:46/15:47)= 1 4% (15:54/16:01)= H & H (16:14/16:27)=F £ 1 B
(17:00)
55 2
KEHR 0719 % e 1 07:22 %5
L 07:06 % FkFh T 07:14 55
a—A G | SRR A ER
BT | 2 M 40 & | hE75:191m
| Bl —%
# | 2,406 FH(JR659 X2, FERE 544 [ X 2)+{E 2
- BEBRTEUCES, 2BRI> T LEFELET,
BRI UKL 722235 BARES LR WL, MEHEIR T IZEHER0
- DENLEE TR AET,
RNEIE D REEL <D EBWRE LTy i E T, A B
ETHDL EAMUBENERITET,
cFIILES, MERZOAVDYERLET,
% & 4

A GRS

EEESHDOBEII LN L)




